3ME1

Education and Manpower Bureau
Territory-wide System Assessment 2005
Primary 3 Mathematics

Marking Scheme

Qulslsot.lon Answers Marks Remarks
1 408 1
2 B 1
3 600 1
4 962 1
5 1 Must be all correct
6 A 1
7 76203 1
8 106 1
9 120---3 1 120 R 3 is also acceptable
10 70 1
11 It is cheaper in Store A by
830—798 1 Method mark: other correct methods
= $32 1% are also acceptable
1% Answer mark (*please see remarks
below)
Presentation mark (**please see
remarks below)
12 Safe Airline can at most carry each day
284 x 5 1 Method mark: other correct methods
are also acceptable
= 1420 (passengers) 1* Answer mark (*please see remarks
below)
OR 1** Presentation mark (**please see
Safe Airline can at most carry each day remarks below)
284 + 284 + 284 + 284 + 284
= 1420 (passengers)
13 148 1
14 B 1
15 D 1
16 Write down any fraction which is equal 1
tol
17 |2 1
8
18 Circle any 4 jackets 1 Holistic marking
19(a) 38 » 60 respectively 1 Must be all correct
19(b) 10 > O respectively 1 Must be all correct, 10 dollars is also
acceptable
19(c) Circle any coins of total value $1.40 1 Holistic marking
20(a) cm/centimetres 1 Do not accept wrong spelling
20(b) m/metres 1 Do not accept wrong spelling
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Question

No. Answers Marks Remarks
20(c) cm/centimetres 1 Do not accept wrong spelling
20(d) km/Km/kilometres 1 Do not accept wrong spelling
21 90 1
22(a) 2 August/2™ August 1 Must be all correct
22(b) 365 1
23 14 > 9 respectively 1 Must be all correct
24 34 1
25 1500 1
26 D 1
27 Draw any equilateral triangle 1 Need not be drawn along the dots
28 D 1
29 Draw any angle that is larger than a 1
right angle
30(a) A 1
30(b) D:>F 1 Must be all correct, order of
arrangement is not important
30(c) C 1
30(d) E>G 1 Must be all correct, order of
arrangement is not important
30(e) B 1
31(a) C->D 1 Must be all correct, order of
arrangement is not important
31(b) B:F 1 Must be all correct, order of
arrangement is not important
32(a) under 1 Wrong spelling is acceptable
32(b) above 1 Wrong spelling is acceptable
32(c) on the right of 1 Wrong spelling is acceptable
33(a) C 1
33(b) B 1
34(a) Maze 1 Wrong spelling is acceptable
34(b) south/S 1 Wrong spelling is acceptable
34(c) north/N > Insects’ House > west/W 1 Must be all correct, wrong spelling is
respectively OR west/W - Fountain acceptable
north/N respectively
35(a) 2 1
35(b) 1 1
35(¢) Bob - Charles 1 Must be all correct, wrong spelling is
acceptable, order of arrangement is not
important
36 Title: P.3C Pupils’ Favourite Chinese 1 Other appropriate titles are also
Snacks acceptable: ‘P.3C’ and ‘Chinese
Snacks’ must be included in the title
Dumpling > Turnip Cakes » Peanut 1 Must be all correct, wrong spelling is
Candies respectively acceptable
37 202> 3> 7pictures respectively 1 Must be all correct

Remarks: *Answer mark - (1) Just the correct answer without showing mathematical expression,
award the answer mark.

© HKEAA 2005




3ME1

(2) Mathematical expression is incorrect, do not award the answer
mark.
(3) Poor presentation in the mathematical expression or workings but
correct answer given, award the answer mark.
**Presentation mark: (1) Mathematical expression is correct, but wrong answer given,
award the presentation mark.
(2) Mathematical expression is incorrect, do not award the
presentation mark.
(3) Presentation mark includes holistic assessment of
mathematical expression, units (missing unit or wrong unit),
explanation, statement/conclusion and use of symbols, etc.
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